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O gbtx==H| 19,980
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Gl T A2 22 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
- 04l 85,000 x 3¥H = 163 4,080
202 04d| 1,920 1,920 0
01 2L HI 1,920 1,920 0
O 2BYY MBTA HEFA
20,000 * 3% * 22 x 163 1,920
SCAYs X4 9 24 AUl MY 40,000 40,000 0
401 AlEHIZL £ 0HY| 40,000 40,000 0
01 Al&H| 39,568 39,568 0
O Tass T8 2 Fyl
40,000,000& * 98.92/100 39,568
03 AlE 21| 432 432 0
O EAads =4 & A
40,000,000& = 1.08/100 432
TASY =3HAY 40,000 40,000 0
401 AlEHIZL 2 0HY| 40,000 40,000 0
01 Al&H| 39,568 39,568 0
O EASY =SAY
40,000,000 = 98.92/100 39,568
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O EASY =SAY
40,000,000 = 1.08/100 432
SIS CIARI Sral el ZAALY 150,000 150,000 0
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201 Let24E] 200,000 200,000 0
02 2324l 200,000 200,000 0
O =322 % HMA 200,000
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O &E2xEs A8EH FHE WA A
1,000,000& * 200004 = 0.72/100 1,440
Sgs 22s |A 2l 1,902,031 1,750,300 151,731
201 £B-2d| 1,902,031 1,750,300 151,731
02 =224l 1,902,031 1,750,300 151,731
O 33223 % HA 802,031
o §8s Bots Mg
3,350& = 19,9518 » 12&8 802,031
O AM&&EHIS X 1,100,000
o g8Hs Bots ®XZel
1,100,000,000& * 14 1,100,000
g-8H- -3 228 ¢4 450,000 450,000 0
401 AIEHI L 2CHYI 450,000 450,000 0
01 A& tl 446,760 446,760 0
O SHs 2ot 4
315,000,000 = 99.28/100 312,732
O EMXY Eets &1
135,000,000 * 99.28/100 134,028
03 Al S THHI 3,240 3,240 0
O SHs 25 4
315,000,000 = 0.72/100 2,268
O EMXY Eots &1
135,000,000 = 0.72/100 972
245 RS ZHS AX 60,960 60,960 0
202 044l 960 960 0
01 = LH o4 1l 960 960 0
O A4S QAL 2HE EX T
20,000 = 2 * 2& * 123 960
401 Al HIZ 2018 60,000 60,000 0
01 A& HI 59,460 59,460 0
O 2435 s 2HEs &X
1,000,000& * 60S * 99.10/100 59,460
03 A& =TI 540 540 0
O 243 Udls 2HEs &X
1,000,000& * 60S * 0.90/100 540
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- _ _ RE]
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03 Al&E 201 Y| 900 900 0
O WEAND AEXNYE 2SS &X
100,000,000 = 0.90/100 900
H.5 5 B0 WA 50,000 50,000 0
401 AIEHIZL 2 0HY| 50,000 50,000 0
01 Al&H| 49,460 49,460 0
O SHs =5 Bots WA
50,000,000 = 98.92/100 49,460
03 Al&E 201 Y| 540 540 0
O SHs =& 2ot WA
50,000,000 = 1.08/100 540
A EHAXAIS 2,020 2,020 0
201 et d| 1,000 1,000 0
01 A2t 2| bl 1,000 1,000 0
O g9y 1,000
o WLEHICH OfAES EE2 S &
1,000,000 * 14! 1,000
202 04| 1,020 1,020 0
01 2Ll 1,020 1,020 0
O 02t 22X HAIAL BIX 02 O8]
85,000& x 2% x 3L x 23] 1,020
HESHAY| (S AIHE W) (JIEH/DIE 93,725 91,772 1,953
A 2AH| 15,399 13,446 1,953
g 29| 15,399 13,446 1,953
101 e1214| 15,399 13,446 1,953
03 222 (RIHAY) 22X E 2 15,399 13,446 1,953
O A2A22 15,399
o <IPAZ(AIRE)
13,7832 * 2% x 20Al2F = 12&€ * 150% 9,924
o KIPpAZ(NESHEH)
15,2062 » 1€ x 20Al2F = 12&€ * 150% 5,475
24| 78,326 78,326 0
Jl2 &4l 78,326 78,326 0
201 et 46,340 46,340 0
01 AP 2t 2| H| 41,500 41,500 0
O dtx=2H| SHH A 15,000,000 = 14! 15,000
O 249 SUHM(NYARE)
100,000& * 5% «* 33| 1,500
O SH SHHA 25,000,000& * 14! 25,000
02 32%H| 4,840 4,840 0
O Xtgk - detd| 4,840
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220,000&  1CH ~ 12& 2,640
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550,000& = 1CH = 4& 2,200
202 (4] 21,186 21,186
01 2L Y| 13,506 13,506
O BA2Y SHA & 13,506,000& * 14 13,506
02 & H | 7,680 7,680
O HWH (SHINLH NESx)
160,000 * 49 x 12& 7,680
203 ¥R =&Y 10,800 10,800
01 J|22I PR =&Y 6,000 6,000
O AeEnNs=% 6,000,000& * 14 6,000
04 2SI L RF=AH| 4,800 4,800
O TAAHENH(HA 269H) 400,000 = 12& 4,800




